

Summary of Bids Received

Project: Hainesville Road Bike Path III

Section: 08-00072-11-BT

Description: From Route 120 to 175 feet south of Heritage Trail

Bidder Copenhaver Construction Chicagoland Paving,Inc. Schroeder Asphalt Service, Inc. Maneval Construction Co Inc. Lenny Hoffman Excavating, Inc. Greg Greenhill Construction Co., Inc.	Address 121 Center St. 225 Telser Road P.O. Box 831 1015 North Corporate Circle Suite D 3636 Lake Avenue 5419 Hayden Lane	City, State, Zip Gilberts, IL 60136 Lake Zurich, IL 60047 Huntley, IL 60142 Grayslake, IL 60030 Wilmette, IL 60091 Ringwood, IL 60072	Bond Bid Bond Bid Bond Bid Bond Bid Bond Bid Bond Bid Bond	Bid Price \$104,550.90 \$119,880.00 \$122,405.44 \$124,279.14 \$135,893.00 \$153,052.50	-27.46% -25.93% -24.80% -17.77%	\$ Over/Under Eng. Estimate -\$60,708.60 -\$45,379.50 -\$42,854.06 -\$40,980.36 -\$29,366.50 -\$12,207.00
Engineer's Estimate				\$165,259.50		
Design	IDOT(2)	Contract Bidder	N	IGB then Plan Ra	ck	
Finance	Bid Tab File	Resident Eng.	A	dministrative Assi	stant	
Construction	Project File	Request By Mail	N	Igr Capital Progra	mming	



Return Bid Tabulation

Project: Hainesville Road Bike Path III
Section: 08-00072-11-BT
Description: From Route 120 to 175 feet south of Heritage Trail
CPMS Pin: B-00509B
Let Date: 5/24/2011

Item	Let Date: 5/24/2011		Unit	Eng Estimate		Chicagoland Paving,Inc.		Lenny Hoffman Excavating, Inc.		Maneval Construction Co		Copenhaver Construction		Schroeder Asphalt Service,		, Greg Greenhill Construction	
No.	Pay Code Description	Quantity		· ·			<u>.</u>	-	_	Inc). =	•		In in	-		Inc.
1	20200100 EARTH EXCAVATION	226.00	CU YD	Unit Price \$15.00	Extnd. Price \$3,390.00	Unit Price \$40.00	\$9,040.00	Unit Price \$35.00	Extnd. Price \$7,910.00	Unit Price \$36.84	\$8,325.84	Unit Price \$22.00	Extnd. Price \$4,972.00	Unit Price \$29.00	\$6.554.00	Unit Price \$71.00	
2	20400800 FURNISHED EXCAVATION		CU YD	\$25.00	\$6,425.00	\$30.00	\$7,710.00	\$19.00	\$4,883.00	\$26.16	\$6,723.12	\$10.00	+ /	· ·	\$7,710.00	\$47.00	
3	20800150 TRENCH BACKFILL		CU YD	\$50.00	\$700.00	\$36.00	\$504.00	\$21.00	\$294.00	\$50.40	\$705.60	\$40.00	\$560.00		\$470.40	\$58.00	\$812.00
4	21001000 GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	585.00	SQ YD	\$2.50	\$1,462.50	\$1.50	\$877.50	\$1.00	\$585.00	\$1.74	\$1,017.90	\$2.00	\$1,170.00	\$1.00	\$585.00	\$1.60	
5	25200200 SUPPLEMENTAL WATERING	16.00		\$300.00	\$4,800.00	\$1.00	\$16.00	\$1.00	\$16.00	\$52.50	\$840.00	\$1.00		\$100.00	\$1,600.00	\$200.00	\$3,200.00
6	28000400 PERIMETER EROSION BARRIER 28100107 STONE RIPRAP, CLASS A4	731.00	FOOT SQ YD	\$4.00 \$45.00	\$2,924.00 \$1,620.00	\$2.00 \$50.00	\$1,462.00 \$1,800.00	\$3.00 \$26.00	\$2,193.00 \$936.00	\$1.94 \$39.00	\$1,418.14 \$1,404.00	\$2.00 \$50.00	\$1,462.00 \$1,800.00	\$2.75 \$99.00	\$2,010.25 \$3,564.00	\$4.50 \$95.00	\$3,289.50 \$3,420.00
8	28200200 FILTER FABRIC		SQ YD	\$4.00	\$1,020.00	\$3.00	\$1,800.00	\$1.00	\$36.00	\$2.40	\$86.40	\$3.00	. ,		\$36.00	\$5.00	
9	35100500 AGGREGATE BASE COURSE, TYPE A 6"		SQ YD	\$15.00	\$12,780.00	\$10.00	\$8,520.00	\$10.00	\$8,520.00	\$8.53	\$7,267.56	\$6.00			\$7,242.00	\$7.30	
10	40600100 BITUMINOUS MATERIALS (PRIME COAT)	294.00	GALLON	\$5.00	\$1,470.00	\$3.50	\$1,029.00	\$0.50	\$147.00	\$2.40	\$705.60	\$1.00	\$294.00	\$0.01	\$2.94	\$2.75	\$808.50
11	40603310 HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50	114.00	TON	\$110.00	\$12,540.00	\$125.00	\$14,250.00	\$147.00	\$16,758.00	\$119.82	\$13,659.48	\$150.00	\$17,100.00	\$145.00	\$16,530.00	\$125.00	\$14,250.00
12	42001300 PROTECTIVE COAT	117.00	SQ YD	\$3.00	\$351.00	\$3.50	\$409.50	\$1.00	\$117.00	\$2.10	\$245.70	\$1.00	\$117.00	\$2.10	\$245.70	\$4.40	\$514.80
13	42400200 PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	187.00	SQ FT	\$7.00	\$1,309.00	\$10.00	\$1,870.00	\$10.00	\$1,870.00	\$4.67	\$873.29	\$8.00	\$1,496.00	\$11.55	\$2,159.85	\$7.15	\$1,337.05
14	42400800 DETECTABLE WARNINGS	40.00	SQ FT	\$40.00	\$1,600.00	\$35.00	\$1,400.00	\$27.00	\$1,080.00	\$26.25	\$1,050.00	\$25.00	\$1,000.00	\$36.70	\$1,468.00	\$30.00	\$1,200.00
15	44000500 COMBINATION CURB AND GUTTER REMOVAL	37.00	FOOT	\$50.00	\$1,850.00	\$10.00	\$370.00	\$7.00	\$259.00	\$12.00	\$444.00	\$10.00	\$370.00	\$10.00	\$370.00	\$16.00	\$592.00
16	54213663 PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	1.00	EACH	\$650.00	\$650.00	\$890.00	\$890.00	\$791.00	\$791.00	\$528.00	\$528.00	\$800.00	\$800.00	\$840.00	\$840.00	\$765.00	\$765.00
17	54213669 PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24"	1.00	EACH	\$750.00	\$750.00	\$1,110.00	\$1,110.00	\$919.00	\$919.00	\$780.00	\$780.00	\$900.00	\$900.00	\$1,050.00	\$1,050.00	\$915.00	\$915.00
18	54247130 GRATING FOR CONCRETE FLARED END SECTION 24"	1.00	EACH	\$500.00	\$500.00	\$390.00	\$390.00	\$410.00	\$410.00	\$300.00	\$300.00	\$800.00	\$800.00	\$370.00	\$370.00	\$365.00	\$365.00
19	550A0050 STORM SEWERS, CLASS A, TYPE 1 12"	86.00	FOOT	\$50.00	\$4,300.00	\$45.00	\$3,870.00	\$37.00	\$3,182.00	\$48.00	\$4,128.00	\$40.00	\$3,440.00	\$42.00	\$3,612.00	\$59.75	\$5,138.50
20	550A0090 STORM SEWERS, CLASS A, TYPE 1 18"	5.00	FOOT	\$200.00	\$1,000.00	\$47.00	\$235.00	\$104.00	\$520.00	\$116.40	\$582.00	\$100.00	\$500.00	\$44.00	\$220.00	\$93.00	\$465.00
21	550A0120 STORM SEWERS, CLASS A, TYPE 1 24"	12.00	FOOT	\$300.00	\$3,600.00	\$54.00	\$648.00	\$155.00	\$1,860.00	\$109.20	\$1,310.40	\$110.00	\$1,320.00	\$50.50	\$606.00	\$108.00	\$1,296.00
22	55100900 STORM SEWER REMOVAL 18"	5.00	FOOT	\$20.00	\$100.00	\$23.00	\$115.00	\$20.00	\$100.00	\$21.60	\$108.00	\$25.00	\$125.00	\$21.00	\$105.00	\$25.00	\$125.00
23	60218400 MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1.00	EACH	\$3,000.00	\$3,000.00	\$2,200.00	\$2,200.00	\$1,772.00	\$1,772.00	\$1,600.80	\$1,600.80	\$2,500.00	\$2,500.00	\$2,100.00	\$2,100.00	\$2,270.00	\$2,270.00
24	60219000 MANHOLES, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	1.00	EACH	\$3,000.00	\$3,000.00	\$2,000.00	\$2,000.00	\$1,426.00	\$1,426.00	\$1,555.20	\$1,555.20	\$2,500.00	\$2,500.00	\$1,900.00	\$1,900.00	\$2,150.00	\$2,150.00
25	60237470 INLETS, TYPE A, TYPE 24 FRAME AND GRATE	2.00	EACH	\$1,250.00	\$2,500.00	\$1,225.00	\$2,450.00	\$1,025.00	\$2,050.00	\$1,232.40	\$2,464.80	\$700.00	\$1,400.00	\$1,155.00	\$2,310.00	\$810.00	\$1,620.00
26	COMBINATION CONCRETE CURB AND 60605100 GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	280.00	FOOT	\$50.00	\$14,000.00	\$20.00	\$5,600.00	\$30.00	\$8,400.00	\$19.37	\$5,423.60	\$18.00	\$5,040.00	\$19.00	\$5,320.00	\$27.00	\$7,560.00
27	63200310 GUARDRAIL REMOVAL	363.00	FOOT	\$25.00	\$9,075.00	\$5.00	\$1,815.00	\$5.00	\$1,815.00	\$7.86	\$2,853.18	\$5.00	\$1,815.00	\$6.90	\$2,504.70	\$6.65	\$2,413.95
28	78000100 THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	74.00	SQ FT	\$5.00	\$370.00	\$10.95	\$810.30	\$15.00	\$1,110.00	\$8.40	\$621.60	\$16.00	\$1,184.00	\$8.00	\$592.00	\$15.05	\$1,113.70
29	78000200 THERMOPLASTIC PAVEMENT MARKING - LINE 4"	50.00	FOOT	\$1.00	\$50.00	\$4.20	\$210.00	\$5.00	\$250.00	\$10.50	\$525.00	\$5.00	\$250.00	\$5.25	\$262.50	\$4.65	\$232.50
30	78000600 THERMOPLASTIC PAVEMENT MARKING - LINE 12"	128.00	FOOT	\$2.50	\$320.00	\$11.40	\$1,459.20	\$14.00	\$1,792.00	\$10.50	\$1,344.00	\$15.00	\$1,920.00	\$16.00	\$2,048.00	\$13.85	\$1,772.80
31	78000650 THERMOPLASTIC PAVEMENT MARKING - LINE 24"		FOOT	\$4.00	\$104.00	\$22.85	\$594.10	\$28.00	\$728.00	\$15.75	\$409.50	\$29.00			\$819.00	\$27.65	
32	78300100 PAVEMENT MARKING REMOVAL	148.00	SQ FT	\$2.50	\$370.00	\$1.50	\$222.00	\$3.00	\$444.00	\$1.52	\$224.96	\$4.00	\$592.00	\$10.00	\$1,480.00	\$3.05	\$451.40
33	X2070302 POROUS GRANULAR EMBANKMENT, SPECIAL		TON	\$25.00	\$7,200.00	\$20.00	\$5,760.00	\$23.00	\$6,624.00	\$27.76	\$7,994.88	\$20.00			\$9,216.00	\$39.55	
34 35	X2800500 INLET PROTECTION, SPECIAL XX000882 WOOD FENCE		EACH FOOT	\$250.00 \$35.00	\$750.00 \$12,250.00	\$100.00 \$30.00	\$300.00 \$10,500.00	\$200.00 \$29.00	\$600.00 \$10,150.00	\$90.00 \$30.19	\$270.00 \$10,566.50	\$60.00 \$25.00			\$600.00 \$10,570.00	\$250.00 \$29.00	\$750.00 \$10,150.00



Return Bid Tabulation

Project: Hainesville Road Bike Path III **Section:** 08-00072-11-BT

Description: From Route 120 to 175 feet south of Heritage Trail
CPMS Pin: B-00509B
Let Date: 5/24/2011

Item	Pay Code Description		Quantity	Unit	Unit Eng Estimate		Chicagoland Paving,Inc.		Lenny Hoffman Excavating, Inc.		Maneval Construction Co Inc.		Copenhaver Construction		Schroeder Asphalt Service, Inc.		Greg Greenhill Construction Co., Inc.	
No.	o. 1 ay 5 c c c	23000.p.1011	,	-	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price		Extnd. Price
36	XX006344 SODDING	G (COMPLETE)	1,041.00	SQ YD	\$25.00	\$26,025.00	\$8.50	\$8,848.50	\$12.00	\$12,492.00	\$8.87	\$9,233.67	\$6.00	\$6,246.00	\$10.00	\$10,410.00	\$12.00	\$12,492.00
37	1 ("200501	IANCE OF TEMPORARY N CONTROL SYSTEM	8,579.00	UNIT	\$1.00	\$8,579.00	\$1.00	\$8,579.00	\$1.00	\$8,579.00	\$1.00	\$8,579.00	\$0.10	\$857.90	\$0.90	\$7,721.10	\$1.00	\$8,579.00
38	LCX2001 GEOGRIE	O REINFORCEMENT MAT	772.00	SQ YD	\$10.00	\$7,720.00	\$3.50	\$2,702.00	\$4.50	\$3,474.00	\$6.26	\$4,832.72	\$3.00	\$2,316.00	\$4.50	\$3,474.00	\$5.95	\$4,593.40
39	70101700 TRAFFIC	CONTROL AND PROTECTION	1.00	L SUM	\$5,000.00	\$5,000.00	\$8,524.90	\$8,524.90	\$20,347.00	\$20,347.00	\$12,800.00	\$12,800.00	\$16,000.00	\$16,000.00	\$3,500.00	\$3,500.00	\$10,500.00	\$10,500.00
40	Z0062400 SAWING PAVEMEI	BITUMINOUS CONCRETE NT	227.00	FOOT	\$3.00	\$681.00	\$3.00	\$681.00	\$2.00	\$454.00	\$2.10	\$476.70	\$2.00	\$454.00	\$1.00	\$227.00	\$1.50	\$340.50
		Bid Tota	I			\$165,259.50		\$119,880.00		\$135,893.00		\$124,279.14		\$104,550.90		\$122,405.44		\$153,052.50



Return Bid Details

Project: Hainesville Road Bike Path III

Section: 08-00072-11-BT

Description: From Route 120 to 175 feet south of Heritage Trail

Item					Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
1	20200100	EARTH EXCAVATION	226.00	CU YD	\$15.00	\$3,390.00	\$22.00	\$71.00	\$38.97
2	20400800	FURNISHED EXCAVATION	257.00	CU YD	\$25.00	\$6,425.00	\$10.00	\$47.00	\$27.03
3	20800150	TRENCH BACKFILL	14.00	CU YD	\$50.00	\$700.00	\$21.00	\$58.00	\$39.83
4	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	585.00	SQ YD	\$2.50	\$1,462.50	\$1.00	\$2.00	\$1.47
5	25200200	SUPPLEMENTAL WATERING	16.00	UNIT	\$300.00	\$4,800.00	\$1.00	\$200.00	\$59.25
6	28000400	PERIMETER EROSION BARRIER	731.00	FOOT	\$4.00	\$2,924.00	\$1.94	\$4.50	\$2.70
7	28100107	STONE RIPRAP, CLASS A4	36.00	SQ YD	\$45.00	\$1,620.00	\$26.00	\$99.00	\$59.83
8	28200200	FILTER FABRIC	36.00	SQ YD	\$4.00	\$144.00	\$1.00	\$5.00	\$2.57
9	35100500	AGGREGATE BASE COURSE, TYPE A 6"	852.00	SQ YD	\$15.00	\$12,780.00	\$6.00	\$10.00	\$8.39
10	40600100	BITUMINOUS MATERIALS (PRIME COAT)	294.00	GALLON	\$5.00	\$1,470.00	\$0.01	\$3.50	\$1.69
11	40603310	HOT-MIX ASPHALT SURFACE COURSE, MIX "C", N50	114.00	TON	\$110.00	\$12,540.00	\$119.82	\$150.00	\$135.30
12	42001300	PROTECTIVE COAT	117.00	SQ YD	\$3.00	\$351.00	\$1.00	\$4.40	\$2.35
13	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	187.00	SQ FT	\$7.00	\$1,309.00	\$4.67	\$11.55	\$8.56
14	42400800	DETECTABLE WARNINGS	40.00	SQ FT	\$40.00	\$1,600.00	\$25.00	\$36.70	\$29.99
15	44000500	COMBINATION CURB AND GUTTER REMOVAL	37.00	FOOT	\$50.00	\$1,850.00	\$7.00	\$16.00	\$10.83
16	54213663	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	1.00	EACH	\$650.00	\$650.00	\$528.00	\$890.00	\$769.00
17	54213669	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24"	1.00	EACH	\$750.00	\$750.00	\$780.00	\$1,110.00	\$945.67



Return Bid Details

Project: Hainesville Road Bike Path III

Section: 08-00072-11-BT

Description: From Route 120 to 175 feet south of Heritage Trail

Item					Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code Description		Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
18	54247130	GRATING FOR CONCRETE FLARED END SECTION 24"	1.00	EACH	\$500.00	\$500.00	\$300.00	\$800.00	\$439.17
19	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	86.00	FOOT	\$50.00	\$4,300.00	\$37.00	\$59.75	\$45.29
20	550A0090	STORM SEWERS, CLASS A, TYPE 1 18"	5.00	FOOT	\$200.00	\$1,000.00	\$44.00	\$116.40	\$84.07
21	550A0120	STORM SEWERS, CLASS A, TYPE 1 24"	12.00	FOOT	\$300.00	\$3,600.00	\$50.50	\$155.00	\$97.78
22	55100900	STORM SEWER REMOVAL 18"	5.00	FOOT	\$20.00	\$100.00	\$20.00	\$25.00	\$22.60
23	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	1.00	EACH	\$3,000.00	\$3,000.00	\$1,600.80	\$2,500.00	\$2,073.80
24	60219000	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	1.00	EACH	\$3,000.00	\$3,000.00	\$1,426.00	\$2,500.00	\$1,921.87
25	60237470	INLETS, TYPE A, TYPE 24 FRAME AND GRATE	2.00	EACH	\$1,250.00	\$2,500.00	\$700.00	\$1,232.40	\$1,024.57
26	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	280.00	FOOT	\$50.00	\$14,000.00	\$18.00	\$30.00	\$22.23
27	63200310	GUARDRAIL REMOVAL	363.00	FOOT	\$25.00	\$9,075.00	\$5.00	\$7.86	\$6.07
28	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	74.00	SQ FT	\$5.00	\$370.00	\$8.00	\$16.00	\$12.23
29	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	50.00	FOOT	\$1.00	\$50.00	\$4.20	\$10.50	\$5.77
30	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	128.00	FOOT	\$2.50	\$320.00	\$10.50	\$16.00	\$13.46



Return Bid Details

Project: Hainesville Road Bike Path III

Section: 08-00072-11-BT

Description: From Route 120 to 175 feet south of Heritage Trail

Item					Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
31	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	26.00	FOOT	\$4.00	\$104.00	\$15.75	\$31.50	\$25.79
32	78300100	PAVEMENT MARKING REMOVAL	148.00	SQ FT	\$2.50	\$370.00	\$1.50	\$10.00	\$3.85
33	X2070302	POROUS GRANULAR EMBANKMENT, SPECIAL	288.00	TON	\$25.00	\$7,200.00	\$20.00	\$39.55	\$27.05
34	X2800500	INLET PROTECTION, SPECIAL	3.00	EACH	\$250.00	\$750.00	\$60.00	\$250.00	\$150.00
35	XX000882	WOOD FENCE	350.00	FOOT	\$35.00	\$12,250.00	\$25.00	\$30.20	\$28.90
36	XX006344	SODDING (COMPLETE)	1,041.00	SQ YD	\$25.00	\$26,025.00	\$6.00	\$12.00	\$9.56
37	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEM	8,579.00	UNIT	\$1.00	\$8,579.00	\$0.10	\$1.00	\$0.83
38	LCX2001	GEOGRID REINFORCEMENT MAT	772.00	SQ YD	\$10.00	\$7,720.00	\$3.00	\$6.26	\$4.62
39	70101700	TRAFFIC CONTROL AND PROTECTION	1.00	L SUM	\$5,000.00	\$5,000.00	\$3,500.00	\$20,347.00	\$11,945.32
40	Z0062400	SAWING BITUMINOUS CONCRETE PAVEMENT	227.00	FOOT	\$3.00	\$681.00	\$1.00	\$3.00	\$1.93
		Bid Total				\$165,259.50			